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Q.1: colors of light Mark(s): 7/7

Which of the following is not one of the primary colors of light?
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Q.2: concave mirror Mark(s): 7/7

Under which conditions does a concave mirror produce an enlarged real image?

$388a 3,80 3y g 58] 31pa) LB oy o€ M) N o L8

When the object is between the focal point and the center of curvature

95 38 58855 o el 0158 Lai

When the object is on the center of curvature

295 38 50 b w58 Latie

When the object is at a distance greater than the radius of curvature

2SN b Chial (pa S Ablua o acad) ¢y 5S5 Ladis



When the object is between the focal point and the mirror
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Q.3: image position Mark(s): 5/5
An object 1s placed (90 cm) from a convex lens whose focal length is
(30cm). What 1s the image position (x;)?

(30 cm) s bass asa dise (50 (90 cm) 2 o § g ge ana
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You may use any of the given equations where needed:

| 1 1 4
- 45¢cm
b.
30cm
C.

60cm



90cm



Q.4: magnification of image Mark(s): 0/5

What 1s the magnitude of the magnification of image formed by a convex lens that
at (x, = 2f) from the lens?

Planll Ge (x, = 2f) wmile g pmseanal i Sdls 5l

PAL]) Asdal ) el e adl La ot

You may use any of the given equations where needed:
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Q.5: Wave Mark(s): 7/7

In the diagram, what does (c) represent?
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Q.6: Refracton Mark(s): 7/7



Which of the following is not a correct formula?

A dsdal ) el a2l La cadad

You may use any of the given equations where needed:

n,sinf; = n,sino,

nq sinf,

no sinfq



sinfq no

s5inf, nq

n,sinf, = n,sinf,



Q.7: Frequency Mark(s): 7/7

If a wave has a period of (0.01s). What is its frequency?
“Aa gall 038 23 i L (0.015) 8 4 gl 5 )9l a3l
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You may use any of the given equations where needed:

ol
- 100Hz
b.
10Hz
c.

0.1Hz



0.01Hz



Q.8: angle of incidence Mark(s): 7/7

What is the angle of incidence in the shown figure?
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10°
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Q.9: convex mirror Mark(s): 7/7

Which type of image 1s produced by a convex mirror?
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Enlarged and real

daida 93 S

Reduced and virtual
Ala 53 jraan

Enlarged and virtual
a5 3,8

Reduced and real
Lida o5 5



Q.10: critical angle Mark(s): 6/6

What is the critical angle of a light beam passed from a medium whose in

(n=2.6) to a medium whose index of refraction is (n=1.3)?
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You may use any of the given equations where needed:
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Q.11: concave lens Mark(s): 7/7

Which of the following is a characteristic of the image formed by a concave lens?

€ yaie dune Al 51 43 Siall 5 ) poall dain jriad MM pe ol

Inverted and real
Lo Ayl

Upright and virtual
Adla 5 Axies

Enlarged and real
Lida o5 e

Enlarged and virtual
Alba 55 58
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Q.12: illuminance Mark(s): 7/7

What is the measurement unit of illuminance?

€5 LateN| uld 3aa4 La

a.
Newton
CHgadl)
b.
Watt
Jalgl)
C.
Joule

Jdsd






Q.13: application Mark(s): 7/7

The equation f,,. = f(1 +
e A ek 2 fops = f(1-

) is an application on .......cccceceiiiiiinnnn,

ol

Doppler effect
Hga i

Polarization
ladiny)

Refraction
by



Reflection
sy



Q.14: plane mirror Mark(s): 7/7

What 1s the type of image formed by a plane mirror?
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Virtual

Enlarged
5 Sa

Reduced
E)M



Q.15: path of light Mark(s): 7/7

According to the figure, what is the correct path of light depending on ray model o
S sl o laill 3 gail it ¢ guall em all lsall g ol lisall (e (o RED e

light source
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surface
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